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JES
ES Al 2 H|
FOEHHA (&2 &)
2N -3 - c2(3H) - NEME - HES Ol &F2H J| & @ Hns
SRR, 1,525,192 1,602,606 NTT,414
HAS AFE E I 429,876 424,436 5,440
0= EHol A 379,306 373,866 5,440
LA™K 134,216 138,616 A4,400
201 et2F | 82,490 83,590 A 1,100
02 S32gH| 22,450 23,550 A 1,100
QO&t=223519 &8s HalH| 0 600 A 600
O3 28 = 0 500 A500
307 2I12t01 A 0 1,800 A 1,800
02 QIZtF3 a8 0 1,800 A 1,800
Ogolils 28 |X&2/dHl X3 0 1,800 A 1,800
401 Al EHI L2 0HHI 5,500 7,000 A 1,500
01 Al&HI 5,500 7,000 A 1,500
OSANRA 385 2Y & HMIISA 5,500 7,000 A 1,500
TS24 245,090 235,250 9,840
301 LEtEAZ 241,090 231,250 9,840
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— 0| &3 o B A =t
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-8~92 105,000& * 9 = 12& 11,340 15,120 N3,780
-10=2 0 1,140 AN 1,140
Jl=22Z 4l 186,982 188,613 A 1,631
J|E2& | 186,982 188,613 A 1,631
201 Let2HH| 81,302 83,233 A 1,931
02 S324H| 40,762 42,693 A 1,931
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